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SECTION A 

(Write down the letter corresponding to the best option for each question) 

QUESTION 1 [26 Marks] 

1.1 45 is a Multiple of? [2] 

A 9 & 3 B. 4 &9 C. 18 & 4 D. 5 & 9 

1.2 Decompose 2024 into products of its prime factors [2] 

A 24 x 32 x 5 B. 25 X 32 X 7 c. 24 x 65 o. 23 x 11 x 23 

1.3 The Lowest Common Multiple (LCM) of 25,120 and 45 is [2] 

A 900 B.120 C. 135000 D. 5 

1.4 The expression (9.52 x 10- 2 ) x (3.85 x 107 ) simplifies to (3 s.f) [2] 

A 3.67 X 104 B. 36.652 x 105 C. 3.67 x 10- 7 D. 3.67 x 106 

1.5 The expression 4t - 5x - 2t + 8x - 2t + 1 simplifies to: [2] 

A 3x + 1 B. 13x + 1 C. -4x-1 D. 1 

1.6 Factorize a2 b - b3 [2] 

A a(a 2 - b2 ) B. b(a - b)(a + b) 

C. b(a - b)(a - b) D. a(a - b)(a + b) 

1. 7 At present, a man is 41 years old, and his son is 5 years old. After x years, his 

son's age will be half his age. 

What is the son's age after x years? [2] 

A 31 B.46 C. 36 D. 10 

Course Name (BMS411S) 2nd Opportunity- January 2025 2 



1.8 Given a= -2; b = ½ , the expression 2ab 2 simplifies to [2] 

A. -1 B. 16 C.4 D. -8 

1 9 Th I f . th . x-2 x+2 . ? . e va ue o x In e equation - = - Is. 
2 4 

[2] 

A. 1 B. -7 C. 6 D. 7 

1.1 O The original price of a bag is N$1750.The manager has agreed to give you a 

discount of 10% for paying cash. After the discount, you are expected to pay 

3.5% VAT for the bag. How much will you pay altogether for the bag? [2] 

A. N$1575. B. N$175. C. N$1630.13 

1.11 If A = {a, b, c, d, e, f} and B = {1,2,3,4}.The set Au B =? 

A. {O} B. 0 C. {1,2,3,4, a, b, c, d, e, f} 

D. N$1350.12. 

[2] 

D. {1,2} 

5 
1.12 Rewrite the fraction 2 - in decimal form correct to 4 decimal places. [2] 

7 

A. 2.7142857 B. 2.7142 C. 2.7143 D. 2.714 

1.13 Given A = (2
2
x ~) , the determinant of A is [2] 

A. -3 B. 2x -10 C.O D. 2x 
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SECTION B (show all your calculations) 

QUESTION 2 [26 Marks] 

2.1 180 blue balls, 225 pink balls and 270 yellow balls are distributed equally among 

some students with none left over. 

What is the biggest possible number of students? 

2.2 Simplify each of the following expressions without using a calculator 

2.2.1 ~+ 6-4(3 X 1) 
100-50 

2.2.2 c~7)2 
2.2.3 7x 2y + 2xy 3 - 3y 4 + 2xy 3 - 4x 2 y 

2.3 A farmer cuts a 300-foot fence into two pieces of different sizes. The longer piece 

should be four times as long as the shorter piece. 

2.3.1 Write an equation in terms of x, representing the total length of the two 

pieces 

2.3.2 How long are the two pieces? 

2.4 Splve for x in the following equations 

2.4.1 32x+1 = 9 
5 2.4.2 4X - 3 = 2 + - X 
2 
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QUESTION 3 [43 Marks] 

3.1 Consider the Venn diagram below illustrating the marital status of staff members in 

an organization 

5=1000 

Male Married 

2 

3.1.1 What is the value of x? [4] 

3.1.2 How many female staff members are there in this organization? [2] 

3.1.3 How many of the female staff members are married? [2] 

3.1.4 How many male staff members were single? [2] 

3.1.5 Find the number of staff members who are male or Married [2] 

3.1.6 What is the percentage of single female are there in this organisation [2] 

3.2 let: n = {1,2,3,4,5,6,7,8,9,10} , A= {x: xis an integer and l::;; x::;; 6}, 

B = {5,6,7,8,9} 

Find 

3.2.1 AUB [3] 

3.2.2 An.B [3] 

3.2.3 (Au B)c [2] 

3.2.4 AnB [3] 

3.2.5 A-B = {1,2,3,4} [2] 
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3.4 Given that matrix A = (i ~) and B = (~ ~) 

3.4.1 Obtain the matrix A2 • [S] 

3.4.2 Find the determinant of the matrix A. [2] 

3.4.3 Obtain the matrix A - 2B. [4] 

3.5 Find the value of x, y and z in the matrix equation below: 

y) _ (X 6) 
-1 - z 6 [S] 

Question 4 (5 Marks) 

4.1 Congratulation!! You just won N$50 000! You decide to invest your money, and the 

bank presents you with this investment plan. You may invest your N$50 000 at 5% 

interest, compounded quarterly, for a period of ten years. 

How much interest are you going to earn after 10 years? [S] 

END OF EXAMINATION PAPER 
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